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1.  ∠𝐵 =  90°,∠𝐶 =  44°  (3) 

 

 

 

 

a) ∠A ?  

b) tan 44° ? 
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c) tan 44 × tan 46 = 1  

  

2. ABC , length of AB = 6 cm,  ∠A = 70°, ∠B = 55° (4) 

 

 

 

 

a) ∠𝐶 ?  

b) AC  

c) ABC  (sin 70 = 0.93)  

3. ∠𝐵 = 90° , ∠𝐶 = 𝑥° , ∠𝐴 = 𝑦°  (3) 
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a) 𝑥 + 𝑦  

b) that 𝑠𝑖𝑛𝑥 =  𝑐𝑜𝑠 𝑦  

c) 𝑠𝑖𝑛𝑥 =  𝑐𝑜𝑠𝑥, ‘𝑥’   

4. ABCD  AB = 8cm, AD = 4 cm,  ∠𝐵 = 120° (3) 

 

 

 

 

 

a) ∠𝐴 ? 

b) D AB  

c) ABCD  

5.  1.75 m  40 m 

 60° 

50° 

 (tan 60 = 1.73, tan 50 = 1.19) (5) 

 

6.  (tan 40 = 0.64) (2) 
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